LSyeQLrs @E?‘ ?ﬂg DCN NoO. DEscF;EIPngN ﬂDR %Hl(é APPﬂ[?. %PP%
( "ON ONIMYHQ)LBEHR
41
. (o))
NOTE 1
m
oS o
~ n
NOTE1
|.
10
(CABLE ENTRY) +1
16
SCREW(SLOTTED AND
10 GROSS<RECESSED HEAD 2iSTEEL NICKEL PLATED M3 X6
? |SPRING LOCK WASHER 2|STEEL NICKEL PLATED M3
8 |HEX NUT 2|STEEL NICKEL PLATED M3
7 |LOCKING SCREW 2|STEEL NICKEL PLATED
& |FLAT WASHER 4|STEEL NICKEL PLATED M3
NOTE1.JAE LOGO AND PRODUCT NAME, EXCEPT [—F3—-1RJ MARK, 5. |HOOD B 1/ABS NICKEL PLATED
IS TO BE INDICATED AT THE POSITION AS SHOWN. 4 |HooD A 11ABS NICKEL PLATED
2.THIS DIMENSION MEANS THE PROTRUDED AMOUNTS OF THE SCREW. 3 |INSERT 2|COPPER ALLOY NICKEL PLATED
2 |CLAMP SADDLE 1|STEEL NICKEL PLATED
SCREW(SLOTTED AND
?; CROSS(REOESSED HEAD 2|STEEL NICKEL PLATED
. — - ¢ m _ = % # || ¥ :
ERROMBECHBRRY &% & RRT 5. NO.|  DESORIPTION __|0TY MATERIAL
- 2L [—F3-1TRJIEBHRREINA LW, E(SPECIFICATION) FETR(ORIGINAL DATE)
a 2.2 0FTHERIOHEN BERT. 2082 43
m « DR. Z#H(TITLE) N
e [ #A%(GENERAL TOLERANCE) Hy ELECTRONICS w
~ 43 (DIMENSION) | (ANOLES)  [omt klesat .’AE INDUSTRY, LTD. | =
? vo - x: R fﬁ’po _ DB—-C8—-J10—-F3—1R —~ ' o
° e . Fe ~ "X&E&E (DRAWING NO. TR |
i- .>>:x :0'5 St D( APPD, /% FECVASS) HEaS ¢ : 0-) (REV.)
a XX 1= $J103451 1

IHI|II|II||||||III|IIlI|I|ll|||l||||||||||||I|l|| | | | I | | |
o 10 20. 30 40 S0 60 '

T

JAE CONNECTOR DIV. PROPRIETARY.
COPYRIGHT (C) 2005, JAPAN AVIATION ELECTRONICS INDUSTRY, LTD.



